| number of missing inner layers | number of missing outer layers
missing_inner_layers missing_outer_layers
1g Entries 2623 1 — Entries 2623
E Mean 0.0732 ' Mean 1.957
r Std Dev 0.2733 N Std Dev 3.025
10_1 §_ mllsslng;lnnerilayers 10_1 """"" ‘ 7 mlssmg;uuteri\ayers
= Entries 2488 = : Entries 2488
r Mean 0.06471 r : Mean 2.1
Std Dev 0.2476 . Std Dev 3.134
1072 T 1072 e = R -
E missing_inner_layers E N . missing_outer_layers
L Entries 2600 L i [ Entries 2600
3 Mean 0.06885 Bl P . Mean 212
10 E Std Dev 0.2547 10 E . + |.Std Dev 3.158
: - ] : : [
I missing_inner_layers o missing_outer_layers
—4 L Entries 2556 —4 L Entries 2556
10 E Mean 0.07081 10 E H . | Mean 2.143
r Std Dev 0.2595 r N N Std Dev 3.176
10°F L peeeeee s resseases froceenees
.910—61 910—6_....!....|...!....!....
= r = - . . .
& [ g l5—$ """" R I__:"'___.__________: """""
SR
Lo N Lo s %4‘" """"" g
0 e
0 05 1 15 2 25 3 35 4 45 5 5 10 15 20 25
—— obal SSW_CKTPUSU _ RECO
e DQM_V0001_R000000001__Global_CMSSW_ mkFItPUSOLothQuad RECO
mean hif| === DOM_V0001~R000000001 _Global _CMSSW_LowptQnoSC_REC
= DOM_V0001_R000000001_Global__CMSSW_LowptOnoDC RECO
= 40 — Entries 2623
w - L e 17| Mean 14.93
T S TS A S FU UL AUy T "PPPUr DU PR ol I .| Std Dev 5.927
A BB rrrereeete e : : T
2 hits
c ntries 2488
v 30 Mean 14.77
Std Dev .
R SETEERR LIEPPPRPIRRPRS
20
15 Entries 2556
Mean 14.69
10 H Std Dev 5.344
Shee! :
° o) EFNINIFE AFEFIFIFE EFEFIFI PIFIVE AFRFETIT S °
= E : : = 1.2
(RN LS] = C 8 - ERRRERY CRE R V. i i ] TR b <
o E H v 1F
1E 4 - E
o 955 i 0.8
S5 T o
il oo -
1 2 3 0 5 10 15 20 25 30 35 40
track n track hits
[Nofreco track vs pT |
num_simul_pT num_reco_pT
Entries 137399 Entries 2952
Mean 2.105 r Mean 3.313
Std Dev 5.962 = Std Dev 6.208
: I 107 : :
num_simul_pT. = . num_reco_pT
Entries 137323 N Entries 2800
Mean 2.105 > : Mean 3.367
Std Dev 5.948 10°F - | std Dev 14.33
: I E : : |
num_simul_pT o num_reco_pT
tries 137959 3 B ntries 29018
Medn 2.099 10 °F ean 3.068
Std Dev 5.936 E td Dev 4.984
num_simul_pT B num_reco_pT
Entries 137054 10_4 E Entries 2883
Mean 2.107 E Mean 3.358
td Dev 5.949 = Std Dev 6.202
-5
1077 e
o16%F 01055
= - r
@ ¢ o
o o =
1 ]
0.9
0.95 .8:
10t 10t




	Contents
	Page 1


